Announcements — Lecture XX — Tuesday, Nov 29t

1. Lab 5 — Saturday, December 3, 1-4pm

2. Exam lll - Thursday, December 8% - In Class
Three or Four questions will be taken from Lab
Ow/s 3and 4.

No questions will be taken from Lab Owl 5.

3. iClicker:

\\\\\\

<» Choose any letter: A-E
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8.3 What Are Conjugate Acid—Base Pairs?

ARRMENILS: DBrons1en Longy:
Acio:  Paoduces Ha0' i nales. Acio:  Q profon (W) donor.
HQep + W200) = Ha0" + @ N tog) + a0 = Ha' + 01"
acd acid ... donoles W' o Ha0 ()
Bast: Produces OW in nakes. Base: O prolon (W) atcepon.
Malog) +Ha0() € NHy +ON NHsog) + W00 € Ny + OW
bose fose .. accepls " $rom Ha00)
Nolice mw\'ﬁu'ng oot Ha0(8) ion Yhe Yo
examples giiem obove ?
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8.3 What Are Conjugate Acid—Base Pairs?

HEN g + NHalag) € WMy + OV
aud Rbuse H[N(mp ¥ Nl € N\r\:{ + N
acid bose cﬂugu\i ard cmug@se

NHy + N € HONG@Q + Wiala \ \ o/

atid  Dose - Wt
HoNeg + N © N + OV Ocd-W' = Vs conngate fase.
0[\(\ Qmse C\c'\t\*‘ Qmse* Base + HJ' = i\‘s ccmmgo\'e acd.
ard” = [m:ug&‘e acid.
Ymse* = [mmgu\@ fase. Cahons w\u\\\'mg as aGds ?

| (nions Qﬂ\\uwi\a as Douses?
H\'.N}[N' = (ud| [m\:mau\e Pose POWR.
N\‘\:»,INHI = Base t«nmacke auid (OR.
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8.3 What Are Conjugate Acid—-Base Pairs? — Consequences

Hydrolysis
Cation Anion
® Na* @ o
O NH, 0 F
O CHNH* O CN
0 NO;
0 Clo
Concentration
] ]
0.01M
Salt: NaCl
pH = 7.00

10
1.6
10.7

11
91

Aeractive Sigure ondlass neb sif

Dase Contugale atid
Q- R .. <taong auid
F L
N HOV (oY joedR onids
NO2 HNO2
a0 HO0

CN + Wa0() &) RN (oq) +ON"

Pools!
pH Up ... sodiun carbone ... k\os\'n'N‘g Sodo
(03 + OO)EY HEOS + O™
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8.10

What Are Buffers?

1M NaCl

1M CH3CO2H(aq)
1M NaCH3CO2(aq)

PH 7.00 1.00 4.1y
?H \.0Y ).oy 4.65
pH 1396 12. 96 | 4.9
Jarge oM chamges Smolll R hosges.
b ¢ b 60 F <«

C\'\;’,CO.\\-\’ CH3COy

Nedhacd | consugale hose

Tanat
Avo 130"
Aop OW-
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8.10 What Are Buffers? - How Do They Resist Drastic pH Changes

Addition of Strong Acid - H;0*

1M CH,CO,H / 1M CH,CO,-
neaR acid c.mmau\‘e brose
/)-) SA + 1B = 100%
Hs0'

Ha0' + CWat0 = HaOW) + CWaC0aMog)
Dufer bose Dofer arrd

Overa. Ceanees:
LeHatoal L ... AeacYs pith the added W30"
[CHacot] I“ ... pAoduct o the Reaction Yhat Aemoved Ha0"

[ho]: g not iy much .. a gesolt of e [customit
PH = 4 ok Jiy much,
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8.10 What Are Buffers? - How Do They Resist Drastic pH Changes

Addition of Strong Base — OH-

1M CH,CO,H / 1M CH,CO,
neaR atid cm\'m%&'e frase

WA+ SB = \00%
N~
OH™ + CWaCOM(e = Wa0B) + cWscon
Buffea ond Bufer Yose

Overo Cuanges:
[CH3C01\'\]‘ j/ . Reocdks pith the added OW".
[CHaC02 ! T fﬂoduc\' of the reaction thet Rumoued the OW,
LoW]: ¢ .. wot Ty much . o gesult of the Tesc0;] 1
fH‘ T Ny Much,
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8.10 What Are Buffers? - How Do They Resist Drastic pH Changes

A buffer solution made from HF and KF has a pH = 2.84.
Addition of OH- will cause -

1. Increase significantly 2. Increase slightly

3. Decrease significantly 4. Decrease slightly

5. Increase 6. Decrease
a) ;«- PH ? 7\; QA&\&!\% Qme.e Nm Touse \\w So\u\\im \'o Q)Qcom MoRe Qms'\c.
b) T poH? " Tow] £ pOH = -Jog, lon) wlly
o T [W)? 6 HFq) + OA" = W) * F~

Buffer acid Bufes ase

8 E_E.:'-] "‘) -

d) .. CHF] ! 5 See. 9. [\'\H&‘ 11
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